28

43 32.2

AbO—=415

25 IHN bry bt B -

(% : TNG0422)

)
— VBS—TFEyFA b
o )| @& T /ST L=
Ll i
— JER—H)L b 61 M6x1.0
(%% :TJB06/STJB06)\ | \B>
36 - e— .
] gr$ — = «
S B
1.5 ‘ 20 ‘ 79
HEE6 2 35
139
TLA110F/STLA110F
_o10
,,,,,, UBS—F Ry F AUk
o (&% TUB150/STUBT50) 128
2
J JER—HL b 85 M10x1.5
(@ T0B10/STIBTO\NE,
65 s - -
SRR

REE2

o 20 gl !
1340

179

TLAT50F/STLA150F

URTL— 7R YFAV b

(5% TUP120/STUP120)

To

37

of 7.5
=] .
= HEE2 8] 3%

35.8

UBTL—bFEYF AL
(%% TUP160/5TUP160)

= 6.4 15

174

TLA160F/STLA160F

e
'{%sunsn>
SUPER

IRUSIESRARN LISV T

TOGGLE CLAMP (Push / Pull Type)

TPPL50R - TPPL50L

TPPL50R
TPPL50L
m & N=R-F1F BE(g) | X—H—FRLB/I\TEME
TPPL50R T2 54 ¥1,200
TPPL50L T2 54 ¥1,200
® RAHN 0.5kN e ZhO—7 15mm
o NURIVRFEE 180° e XHFEY AT

ISISLHERBNINISOT

TOGGLE CLAMP (Latch Type)

TLA-F - STLA-F

TLA110F
m & N—=R-I1S BE(g) | XA—H—AH L/ \FEAiE
TLA110F T 205 ¥1,670
STLA110F | 75> - A7V L A& 205 ¥4,260
TLA150F o 454 ¥1,860
STLA150F | 75> - A7 A& 454 ¥5,340
TLA110F-STLAT10F TLA150F-STLA150F
® RAZFH 1.7kN @ BAXEN 3.0kN
o [{ESE 16mm e FEE 12mm
o TR ATV A ® TR AT R

TLA-F - STLA-F

EQ

TLA120F

| B N—=R-I1S BE(g) | X—H—A L/
TLA120F o 210 ¥1,670
STLA120F | 75327 A& 210 ¥4,260
TLA160F T5Y 420 ¥1,860
STLA160F | 75> - A7 L A& 420 ¥5,210
TLA120F-STLA120F TLA160F-STLA160F
o AR 1.7kN @ BAXEH 3.0kN
o FAEE 12mm e F{EES 12mm
® TR 2FVLR e LY 2FULRA

KR—LR—IV[REHAT IV OEBRNDELW[CADF—F |DEICASTIEEET E.CAD-PDFF—IZIBH L TVET,

.
{E
=
L
8
7
5
-
Z

Viryh
L7

SFIvh
L>F

HrLoF.
707

F7LOF

RINF

IER=yay
INR=

Ze0—7

Viryke
Evhvrvh

NEELT

EFLUF

RYF
751v

TYI RIS
E> 2N

L8757

A—=/N—
tyy—

BEA
Y=

TATIRY



P
{ZsUPER>
~—

25.4 39.7

712 6.4 [6.419 14.3 M5x0.8
e o
{ EEs: T
¥ 4 o8>
2 111
I IYIHTEYFAYE
=] (5% TUA200) 87
E UBLS—L b Jm
(%% TUB05) —
[ ] e o
5 WEE10~20 “
~
/ JysBPEYFAVE
° (% TUA250)
7 38.1 38.1
6.4 19 127 127 19 |64
— 5
O O | = -
~ e | | 7
2% 1t - —)=l
~=> =t A\
(W—@ =
=z Cs
Zé‘ &
&
153
Viryhk JE =L R
L @& 19608\ M8x1.25 P
p— 6.5
,,,,,,, T, 8
SFIvk /\@ . 8/
L>F A~ ] Jic S
B E40~50 - 141
HHRLYF.
PO 2 % 32 97
VB b
8 19 13 (o F U500 5| 6
T I A= yany
FTLUF ; 36
P Pan Y S T2
YTV Zoa = I—ig|®
5 ~=
Z/5F ) =
rﬂr |8
8.5 e
IER=yay
NIN—
JYIBFEIFAE
(8% : TOBBI) (&t TUMOD)
(D
ze0-—7 ~ s ( 3
! [l
! T
Uk 3 N ¥
- |
I M8x1.25 fos H
BEB50~T5 121
NEELTF
TEFLUF
RF-
TI1v
TYIAINT
E> 2N
7%
7527 95vF7—h
(%% - TOBC1)
2vIRH - l
—
sl C=ig
LBI5> 7 L
2—=/\—
Tyy—
BER
V= -
FATIIY % g5y

170

ISIZLHERBEN VLISV T

TOGGLE CLAMP (Latch Type)

TLA200F

m & N=R-F1F B(g) | XA—H—RmLB/I\TTMHE
TLA200F U 205 ¥1,900
® RAHN 3.18kN e FAEE 10~20mm
® TR AT

TLA250F

| & 2(g) | A—N—FHL/FEHE
TLA250F 330 ¥1,520
o R AN o FARE 40~50mm

® TR

TLA4OOF

B B NR—=R-I1S BE A= —FL/N\FEHAE
TLA400F U 670 ¥4,440
o RKIZHAN 7kN o S 50~75mm
o LY ZFULZR
— \Y — (e}

I TABABNITIS>)

BURR CLAMP
>R

o 7—LYNURILEZEHGAET
BIEHENIHERZDTHRLE—TD
ERITEETYT

m & N—=R-I1S BE(g) | XA—H—HL/\TE(iis
TDB1F oY 830 ¥7,020
® RARZFF 2.0kN o I3 7 7—LBEAE 190°
o N\URIVIRIEAE 118°

KR—AR—=VTREAT TV OEBRNDELI[CADT—I |NHEICADTIEEFT & CAD-PDFF—9Z/BHLTVEY,





